module 1 lessons 3.notebook September 19, 2017

NA Agenda:

1) Bell Ringer: page 48 - A ue ot 12: 5S

2) Lesson 3: Numbers in Exponential Form
Raised to a Power

EQ: What is the rule for an exponent raised to a
power?
notes/ examples start on p. 40

3) Homework: pgs 46-47

4) Exit Ticket

Sep 10-9:19 AM

Py2

Sep 19-12:13 PM
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Lesson 3: Numbers in Exponential Form Raised to a Power f 2 7

Classwork

For any number x and any positive integers m and n,

(xm]n — xmn @ ) )‘;—
because
(x™)" = (x -z x)" 3

mll‘hil -
=(xexx) XX (x-xx) 2 2 2 2

m timad m mEi
nt

. D.22922 29922

Sep 18-9:23 AM

Exercise 1 6'q oYy Exercise 3 - (%]

<
(15%)° = ‘6 = \6 (3447)% = 3 (_.[ = 3(_{,"

Exercise 4

< 40
= 62 ) ::)Ee_a numbe:j‘ 2. 4/ s G%‘

Exercise 2 5

((-2)%)¢ = (—)_7

Exercise 5

sarah wrote (3%)7 = 3'2. Correct her mistake. Write an expenential expressien using a base of 3 and exponents of 3, 7,
and 12Zihat would make her answer correct.

covrect
571 35 25.

(&7)=3 ¢35
Ppaer fule product

Sep 18-9:24 AM
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For any numbers x and v, and positive integer n,

(xy)" = x™y"

because

(xy)™ = (xy) - (xy)

(3x 1 = (exex)- oy )

i tll'l"l&ﬁ T tll'l"l&ﬁ

S % @x) ,?x 2 R

3.3 33NN

1
97 x

Sep 18-9:24 AM

Sw 5%+ Sy Sy- 5): -5 x%- Sx

Exercise 7 Exercise 10

(11><4-)9— I \ q x“( Let x be a number.
447 w57

Exercise 8 Exercise 11
(32 74)° = ‘f @ d) Let x and y be numbe’r75. - > 2?2
N '
7 7 t<f
5 x

{ 5=
v g
Exercise 9 Exercise 12 ld

Leta, b, and c be numbgs Leta, b, and ¢ be numbers. q 4 3 "f
(3%a%)5 = 6 (aZbe®)® = C 2—) b c

Exercise 13

n
Let x and y be numbers, vy # 0, and let n be a positive integer. How is (E) related to x™ and y"?
v

@?-— FIEEr£
GROCE:

Sep 18-9:24 AM




module 1 lessons 3.notebook September 19, 2017

Homework

Write each answer as a base raised to a power or as the product of bases raised to powers that is equivalent to the given
one.

1. (9%)° =

2. (1137 x 37 x51%)% =

3. Lletx,y.zbenumbers. (x3yz*)? =

Sep 18-9:24 AM

4. Letx,y. z be numbers and let m, n, p, q be positive integers. (x™y"zF)7 =

4%
58

6. Show (prove)in detail why (2 -3 - 7)* = 243474

Sep 18-9:24 AM
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Sep 18-12:41 PM
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